CLASS: IX
Date: 07 — 05 - 2020

ASSIGNMENT
Multiple choice questions:
SUBJECT: IT
1. is a type of verbal communication

() Oral communication
(i)  Written communication
(i) Body language

(iv) Both (i) and(ii)

2. The communication process consist of several steps.
In the reciver interprets the message and translates it into
meaningful information.
() Feedback
(i) Noise
(i) Decoding
(iv) Encoding

3. Oral communication allows instantaneous exchange of
(i) Opinion
(i) Attitude
(ii) Emotion
(iv) All of the above

4. Written communication includes
(i) Printed and hand written matter
(i) Speech
(i) Signs and symbols
(iv) None of the above

5. Non verbal communication include
() Tone of voice
(i) Body language
(i) Posture
(iv) All of the above



SUBJECT: ENGLISH

UNSEEN PASSAGE 3

When my maternal uncle was alive, his only son quietly made plans to
settle in Germany with his wife. Without informing his father or sister he
bought tickets and sold all movable things at home. A week before he left,
everyone was informed of his plans. People criticised him for abandoning
his father. The married daughter, who was settled in Bhopal, shifted to
Delhi to look after her father. A year later the father was admitted to a
private hospital and died. The son came from Germany, paid the bills and
performed all the death ceremonies.

People now said that after all, he had come all the way so he was not a bad
son. No word about how he had neglected his father or how his sister had
to disrupt her personal life to take care of old Dad.

This is what life teaches every daughter. That our society values a son
more because he has the religious sanction to perform death ceremonies
and grant them liberation - (Mukti). A daughter may have given them love,
care, sensitivity, time, service, but the son gets preference because he
carries forward the family name and performs shraadh. He may be
uncaring, arrogant and indifferent but for parents, a son is their treasure.

Two years back in our neighbourhood a man died without leaving a will. His
only son sold the bungalow and took away his sick mother without
informing his three sisters who then approached the courts for a share of
the property. Is this the family structure we boast of to the world? Where do
love and laughter vanish when siblings become adults? Are we right in
blaming a newlywed for poisoning a son's brain? Love for a daughter has
to come from within. Saints repeatedly clarify that death ceremonies need
not be performed only by one's own son.

And what guarantee is there that a son will perform the shraadh? If parents
do not reciprocate a daughter's love, won't Heaven, which claims to be just
and fair, reproaches them for their insensitivity?



Questions:

1. Why did people criticise the son?
a. Because he quietly shifted to Canada
b. Because he quietly shifted to Germany
c. Because he married a girl in Germany
d. Because he was jobless

2. Why did the girl shift from Bhopal to Delhi?
a. To take care of her parents
b. To join a new job
c. To marry a boy of Delhi
d. To take the assets of her parents

3. Why do the parents consider their son as a treasure?
a. He is uncaring and arrogant
b. He goes abroad to earn money
c. He sells the property
d. He carries forward the family name

4. What is the synonyms of ‘leave permanently’?
a. Abandon
b. Vanish
c. Remove
d. Disappear

5. Find the synonym of ‘disappear suddenly’.
a. blur
b. vanish

c. faded
d. unseen



SUBJECT: MATHEMATICS

1. The number of dimensions a solid has is:
a)l
b) 2
c)3
d) 0

2. Boundaries of solids are:

a) Surfaces
b) Curves
c) Lines

d) Points

3. The number of dimension that a point has is:

a0
b) 1
c)2
d) 3

4. The base of a Pyramid is:
a) Only a triangle
b) Only a square
c) Only a rectangle
d) Any polygon
5.1fx+y=10then x +y +z =10 + z. Then the Euclid’s axiom that illustrates this

statement is:
a) First axiom

b) Second axiom
) Third axiom
d) Fourth axiom



SUBJECT: PHYSICS

Q1. What is force?

(@) Pull

(b) push

(c) Push and pull both
(d) cannot be described

Q2. The strength of force is expressed by

(a) Weight

(b)mass

(c) magnitude

(d) longitudinal force

Q3. When two forces act in opposite directions, then net force acting two forces

(a) Sum of two factors

(b) Difference between two factors
(c) both of these

(d) it cannot be measured

Q4. A body whose speed is constant

(a) Must be accelerated
(b) Might be accelerated
(c) Has a constant velocity
(d) Cannot be accelerated



SUBJECT: CHEMISTRY

. Sodium Oxide ,water, carbon dioxide ,and sodium chloride are examples of:

(@) Compounds
(b) Elements

(c) Mixtures

(d) All of the above

. Substances which contains more than one kind of particles or molecules:

(a) Pure substances
(b) Impure substances
(c) Elements

(d) Compounds

. Cheese is an example of:

(a) Liquid dispersed in a liquid
(b) Liquid dispersed in a solid
(c) Solid dispersed in a liquid
(d) Solid dispersed in a solid

. Sodium, potassium ,silver, and gold are examples of:

(@) Solid elements
(b) Liquid elements
(c) Gaseous elements
(d) Compounds

. Water is a pure substance because it has:

(&) Uniform composition

(b) Molecules cannot be separated into its constituents
(c) Non — uniform composition

(d) Both (a)&(b)



SUBJECT: BIOLOGY

. Which of the following is present in onion cells but not in human cheek cells?
a)Cell wall

b)Nucleus

c) Cytoplasm

d)Plasma membrane

. Lysosomal enzymes are synthesized in
a) Rough endoplasmic reticulum
b) Smooth endoplasmic reticulum
c) Golgi apparatus

d) Mitochodria

. Ribosomes are found

a) Freely in cytoplasm

b) Attached to endoplasmic reticulum
c) In the nucleus

d) Both (a) and (b)

Protoplasm consists of
a) Nucleus
b) Cytoplasm
¢) Endoplasmic reticulum
d) Both (a) and (b)

Cell wall is
a) Living and Permeable
b) Non living and permeable
¢) Non living and semi-permeable
d) Both (a) and (b)



SUBJECT: HISTORY

1) What was the period of the civil war in Russia?
a) 1918-1919
b) 1918-1920
c) 1917-1919
d) 1918-1921

2) What were the pro-Tsarists called?
a) Reds
b) Greens
c) Whites
d) Blue

3) Who started collectivisation programme in Russia?
a) Stalin
b) Lenin
c) Kerenskii
d) Trotski

4) Tsar Nicholas Il was the ruler of Russia in
a) 1914
b) 1913
c) 1915
d) 1916

5) Who was the leader of Bolsheviks?
a) Kerenskii
b) Vladimir Lenin
¢) John Louis
d) Trotskii



SUBJECT:-GEOGRAPHY

1. Which one is the best example of young fold mountain?
A. The Himalayas
B. The Aravalli
C. The Western Ghats
D. The Eastern Ghats

2. From where to where the Northern Mountain wall is extended?
A. Ganga to Brahmaputra
B. Satluj to Ganga
C. Indus to Brahmaputra
D. Koshi to Ganga

3. What is the shape of The Himalayan Mountain wall?
A. Triangular
B. Arc
C. Rectangular
D. Square

4. Total distance of The Himalayan Mountains from east to west?
A. 3900 km
B. 4200 km
C. 5465 km
D. 2400 km

5. What is the variation in width of The Himalayas form west to east?
A. 400 km to 150 km
B. 150 km to 320 km
C. 400 km to 560 km
D. 150 km to 650 km
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